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 ECO-012  

BACHELOR’S DEGREE PROGRAMME 

Term-End Examination 

June, 2022 

 

(ELECTIVE COURSE : COMMERCE) 

ECO-012 : ELEMENTS OF AUDITING 

Time : 2 hours Maximum Marks : 50 

  (Weightage : 70%) 

Note :  Attempt any five questions. All questions carry 

equal marks. 

1. What is fraud ? What are the different types of 

fraud ? 2+8=10 

2. Write short notes on the following : 5+5=10 

(a) Continuous Audit 

(b) Annual Audit 

3. What is meant by ‘verification of assets’ ? How 

far is the auditor responsible with regard to 

their valuation ? 5+5=10 

4. How would you vouch the following items : 5+5=10 

(a) Cash Purchases 

(b) Petty Cash 
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5. What are the duties of an auditor of a limited 

company ? 10 

6. Distinguish between clean audit report and 

qualified audit report. 10 

7. What is management audit ? Distinguish 

between statutory audit and management  

audit. 5+5=10 

8. Comment on the following : 5+5=10 

(a) Accounting begins where book-keeping ends 

and auditing begins where accountancy 

ends. 

(b) Auditor has a right to remuneration. 

9. What is meant by routine checking ? What are 

its advantages and disadvantages ? 3+7=10 
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 B©.gr.Amo.-012  

ñZmVH$ Cnm{Y H$m`©H«$_ 

gÌm§V narjm 

OyZ,  2022 

(EopÀN>H$ nmR>çH«$_ : dm{UÁ`)  

B©.gr.Amo.-012 : A§Ho$jU Ho$ _yb-VÎd 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

  (Hw$b H$m : 70%) 

 ZmoQ> : {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ  

h¢ & 

1. N>b-H$nQ Š`m h¡ ? {d{^Þ àH$ma Ho$ N>b-H$nQ Š`m h¢ ? 

  2+8=10 

2. {ZåZ{b{IV na g§{jßV {Q>ßn{U`m± {b{IE : 5+5=10 

(H$) gVV A§Ho$jU 

(I) dm{f©H$ A§Ho$jU 

3. ‘n[agån{Îm`m| Ho$ à_mUZ’ H$m Š`m AW© h¡ ? BZHo$ _yë`m§H$Z 
Ho$ {df` _| A§Ho$jH$ {H$g gr_m VH$ {Oå_odma h¡ ? 5+5=10 

4. {ZåZ{b{IV _Xm| H$m à_mUZ Amn {H$g àH$ma H$a|Jo : 5+5=10 

(H$) ZH$X H«$` 

(I) IwXam amoH$‹S> 
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5. {H$gr {b{_Q>oS> H§$nZr Ho$ A§Ho$jH$ Ho$ Š`m H$V©ì` h¢ ? 10 

6. {Zanoj boImnarjm [anmoQ>© VWm gmnoj boImnarjm [anmoQ>© _| 
AÝVa ñnï> H$s{OE & 10 

7. à~§Y A§Ho$jU Š`m h¡ ? gm§{d{YH$ A§Ho$jU VWm à~§Y 
A§Ho$jU _| AÝVa ñnï> H$s{OE & 5+5=10 

8. {ZåZ{b{IV na {Q>ßnUr H$s{OE : 5+5=10 

(H$) boIm§H$Z dhm± àmaå^ hmoVm h¡ Ohm± ~hrImVm g_mßV 
hmoVm h¡ VWm A§Ho$jU dhm± àmaå^ hmoVm h¡ Ohm± 
boIm§H$Z g_mßV hmoVm h¡ & 

(I) _mZXo` A§Ho$jH$ H$m A{YH$ma h¡ & 

9. Mmby {ZarjU H$m Š`m AW© h¡ ? BgHo$ bm^ Am¡a hm{Z`m± 

Š`m h¢ ?  3+7=10 


